(V) Ao 3,9 2 ad, ug e yia b

....................................................................................................................................................... SV el
5
5 -3 25 18 ( 14
D=— ¢ C==2 ¢ B=—"x—x|-—| ¢ A=-ZxZx(-15) i (1
-3 7 -24 -35 ( 3) (=29) (
7
E_-E‘+E‘x__2
6 6 3
4 .
—IX = sy X ol ol aa gl (2
9" 12 #7 A
éx:+§:0 rliall saall a5l (3
28 40 32
...................................................................................................................................................... ) O )
(AB)/I (EF) of s
Y 5 X Gl
..................................................................................................................................................... Sl ¢y pall)
C

. AD=4cm 5 AC=6cm s AB =10cm
(MN)O(AC) ofew (1
K/ N v [CD] casie K ol o (2
/ \\ (hlsa Jle ) CMK Gabiall dalise casal (3

www.xdmaths.com




